Total No, of Questions—30] [Total No. of Printed Pages—7
T—8038A1

HISTORY
» (Hindi & English Versions)

Time : 3 Hours
Maximum Marks ; 100
ﬁlﬁtﬂ :

(1) T woq AAfaE § )
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(3) WIE EHE 11 B 18 7% F WAF WA F 397 OGN 50 W= § F=u
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() WA HHE 25 H 28 9% F Yods WA = sOf ST 120 W=l &

(6) 9T WH® 29 UF 30 F UHF 9¥H w1 39 o9 150 V= § #fw
Instruections :

{11 All questions are compulsory.

{21 Write the answer of each Question from Question Nos. 1 to 10 in about
a0 words.

(3) Write the answer of each Question from Question Nos. 11 to 18 in about
50 words.

(4) Write the answer of each Question from Question Nos, 19 to 24 in about
TH words.

(5) Write the answer of each Question from Question Nos. 25 to 28 in about
120 words.

(6) Write the answer of each Question from Question Nos. 29 and 30 in about
150 words.
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(2
|, HraFE o 9Wa E @9 5= S £ 2 2

What do you know about Albugqurque ?

2. T4 WA ¥THF % HA9 G § o493 399 9 97 2

Which Indian Ruler had relations with the Jacobin Club of France ?
. o 4 U

3. 3oTAe 190 T99E A TRH TER 9RG J TEE =G0 RS0 FmE 7 2
How did Ilbert Bill Controversy a:waken the National conciousness in India ?

4. Tome dgy | w9 =9 9SG 3 7 2
What do you understand by Triple Entente 7
Why did AmErit:E; enter in the World War 11 ?
When and by whom the theory of Panchsheel was propagated ?

7. AHMER 9 AR F BTG S FT 417 2

Why did America establish NATO ?

8. ANA & YUY #Haive In = 9 fafau) 92 79 <9 & 9eg9m & ey § oo 2
Write the name of the first Astronaut of India. With the help of which country
did he go to Space ?

9. SHEER HHAl A [&H UHE dFaE Nia F1 FSUEI F A9 w4 E 7 2

How have the Means of Communication strengthened the concept of Global
Village ?
K—1—T—8038A1
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16.

{3)

sivaae=E FamEnl 3 5= G599 =1 92w e ? 3

Which thoughts were given importance by the Surrealist artists ?

(2

A H YamfeE ¥ 9AE w9 FRw 97

What were the reasons of the downfall of Portuguese in India ?
M TE9SE = 60 TS 5w fom a anfamios =mwm =31 917 9edet 5 TTET I
FHIHATET F1 FHAT FE F57 o717

What was the official reason given by the English for the Partition of Bengal ?

What according to the Indians was the real reason for this step 7

. SifeEiar am T F avEn s w4 a5 v = 1 o S

After Jallianwallah Bagh massacre why did the Indian loose faith in the English 7

3 @A o ofteafeat of, 5989 foersa Ao T g7 30 AR H i o5
famn w2 3
What were the circumstances which gave birth to the Khilafat Movement

Why was it suspended later on ?

7w gy ¥ aAtvw Fen, feem 9 wiehE ged (T9%R1) & 9H= 5
et | 2

Write the main functions of the agency of United Nations, UNESCO ?

amaﬂnharrjrmwmmﬂﬂm?ﬂﬁmﬁ@az?fmm
Tapam 7

¥}

How did the unjust provisions of the Treaty of Versailles readied Germany for

another War 7
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e
Il

(4)
What were the reasons of the rise of Nationalism in Indonesia ?
HAGET (Or)
<fivr- et ferr WA () = T R T 6

Why was South-Eastern Asia Treaty Organisation (SEATO) established 7

FHHMTIF FE 8 FyrETy 36 9Eyas 20

Lid

Why is disarmament necessary in the contemporary period ?
HAGET (Or)
TEfTUE AR % Sed B % W mRW 7

What are the reasons for the rise of Non-Aligned Movement ?

gicwsT ¥ gt e 37 S St 4
(Give information about the Ashram svstem in Vedic period.

AU A qWE § WERTe a2 5 w5 e

How did the English ruined the Traditional Industries of India ?

Ug 3 ifHE-gmEitss YN ARG & WAEl w1 S F 0

Fixplain the effects of Religious-Social Reform Movements in India.

= FAY R @ 9 = ¥9Y w1 9999 50 39 Uieg § 99ET TR o e
Fe 3fEE 3 4

Permanent Settlement was a sad blunder. Explain Permanent Settlement and

tell in the above context whether this statement iz correct.

K—1—T—8038A1
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Ld)

q o FET 9 faRR FOE F1 974G SISl Y| Wi w3 w1 99 a2 35 909
su= & F ufafem w7 h 4
What were the reasons that compelled Congress to pass Quit India Resolution ?
What was the reaction of the English Government towards it 7

H9ar (Or)
I AETE SiF WEiEE T 99 F Y HiemA 5 geied g g0 Faen
FIARE] W H 5% SHaa F T8 96 T2
Evaluate Chandra Shekhar Azad and Bhagat Singh in the National Movement
of India and tell why they did not achieve success by following the path of
revolution.
fgam & Wrenfmet & foem 4 oms o = = w3 weE ws 20 4
What advantages and disadvantages have occurred to the Human Society due
to the development of Science and Technology ?

=441 (Or)
frees =1 = § FEEE F faim =eE § T SE G w1 ae=W i)

Discuss the evolution of different modes of Transportation over the last 100

Vears.

51 YRIRT 1 Hg Uianl & [99ed w1 Iedl O S Heal § 2 69 39 & gHeF
H Fek At 5

Can Urbanisation be held responzible for the disintegration of Joint family ?

(Give reasons to support yvour answer.

1857 % THETE F1 TP FiGerd F1 FU9 TS T H6 o Irad 8 7 5

How far is it correct to call the Revolt of 1857 First Battle of National Movement?

K—1—-T—5038A1 2T A
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28,

29,

(6)

Tegeld &1 TEHa &1 30F FE0) 5
Desecribe the Home policy of Hitler.

HYET (Or)
FH ® Wi T T www w9 § 0 ufrads e fem ? fawge wviw it
How did the Revolution in Russia bring complete change in Russia ? Describe
in detail.
ITEE o7 5
Evaluating for Foreign policy of Mussolini tell how for was it responsible for
World War 11

YT (Or)
ST § ATUATEEEE  IE F wRV fAfE | T AT |6 § fE i g 99
Wi 3 e F woen TowE St w6 saw e TR 6

Write the reasons of the rise of Dietatorship in Germany. Do vou feel that the
weak will power of Democratic countries like France and England were some

where responsible for it ?

TN T0U 39 95d o 4 wius HEvEs 22 &

What is the contribution of Kabir to Indian Society ? Do you feel that more than

before it is necessary for us today to follow his teachings ?
Ag4ar (Or)

gfew Wferg W dfam Taasa fafan

Write a short essay on Vedic literature.

K—1-—-T—B038A1
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30. ToasE %1 FUERT 7 TER UAE9EE] S8 96 2 9% 3EE ¥ oded 7 39
HHHARET | &

Vivekananda is called a Karmayogi and a Great Humanist. Explain this in the

context of his contributions.
Hgar (Or)

e T A9 A S H59R F 9§ AEm T T  En 9w s w5y
Hdeg A ?

How did Western Education and Development in the means of Transport and
B i

Communication affect the Indian Renaissance ?

K—1—T—50384A1 15,335
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HISTORY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 100

(1) = 999 AF=E §

(2) T¥ HHIF 1 H 10 TF F TS I FH I a09m 30 wE=E H e

(3) Wed FEF 11 & 18 9% F WIF T99 F1 I GONN S0 =T A STAw |

(4) W99 HATE 19 W 24 7% F TIF UIT F SO 0TS 75 T=El H Siied |

(5) WA FHF 25 F 28 qF F TS UIT F ITW G 120 W= H (|

(6) WIT HEF 29 T 30 = UEH I99 F IO o0 '15{]5.‘T?THETF3|T’|

Instructions :

(1) All guestions are compulsory.

(2) Write the answer of each Question from Question Nos. 1 to 10 in about
30 words.

(3) Write the answer of each Question from Question Nos. 11 to 18 in about
50 swords.

(4) Write the answer of each Question from Question Nos. 19 to 24 in about

(6]

T5 words.

Write the answer of each Question from Question Nas. 25 to 28 in about
120 words.

Write the answer of each Question from Question Nos. 29 and 30 in about
150 words.
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1. TEE ®1 21 SUS F OFH YW g7

I=

How did the English acquire the Island of Mumbai ?

P

_uEE § =% fooe uygw 9 T5E S S & WEA F ¥ oan0 R o

{

_.-

During the rule of which Governor General postal tickets were issued in India

3. E1q e HEeHd 9RES '8 F T e || ;

Write two reasons for initiating the Home Rule Movement.

4, g9 F "W F FHF FHa 9 H=b A9EiG FA9E fEE 0

fud

Why did the German people feel insulted due to Treaty of Versailles ?

5. Tgi Tavags &1 dehiias FR0 fafgd | 2

Write the immediate cause of the World War IL
6. TR 3 21 &7 =9 591 H 417 2
Why did America establish NATO ?

7. 9g9E % A =1 wiaued a8 @R e =

I

When and by whom the theory of Panchsheel was formulated 7.

8. THETHA SfaeE F HY FHHEU

(]

Explain the meaning of Contemporary History.

9, IH YUYW YAE vi@s =1 A farae, e wiew F T [Ee e S 2 9 1R
Ffq F1 91 ToiaEn 2

Write the name of the First Indian author who win the Noble prize for Literature ?

Write the name of one of his work.

K—1—-T—8038B1
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12.

=
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16,

(3)

-

. TfES e A A9 W gUE £ 7

Paak

What do you understand by Kinetic art ?

e R § T WiEE 9ie w1 e d o SEEe =7

|J.J

Why did Dupleix fail to establish French power in South India ?

wArEars foes =1 E SreiEd 3 o= 3eE 912

fad

What was the contribution of Lokmanya Tilak in the National Movement T

ATETR FHEE YRS T o9 A7 TEE 964 ® oS a0y TR T

LV 2]

Why was Simon Commission sent to India ? Why was 1t opposed by the Indians ?

T TEET F sfveTn foen, fEEW 9 wiesftw Smed (UNESCO) ¥ wqE #7
et | 3
Write the main functions of the agency of United Nations Organisation, UNESCO ?
; Wﬁ@wgﬂammwmaﬂwa?vﬁwmnﬁmﬁﬁm#
HryTeEEE w9 Avege 1 998 e 917 3
Imperialism is a hunger which can never be satisfied, in the context of this

statement prove that imperialism is the main reason of 1st World War ?

T =3 A9 TR A § ANEE H gedied S|

Lk

Evaluate the contribution of Subhash Chandra Bose in National Movement ?

K—1—T—8038B1 P10



.

18,

21.

(4)
T H P ATEEE S OGwe F A7 HE0 9awE) 3
Explain three reasons for the triumph of National Movement in Asia.
HLET (Or)
WA § UgEe ¥ 359 % 419 w00 fafan)

Write three reasons for the rise of Nationalism in Malaysia.

== 1 9% 990 5 v fawa 3 =01 w9 o o §2 3

What efforts have been made by the World to make Disarmament a success ?
HEET (Or)

(ER=ic il AEFAT F T TE FA fatey

Write three main reasons for the failure of Disarmament.

TEFTe A Teswen 9 feogoft fafan) 4

Write a short note on Painting of Mughal period.

20. FaE THUSERT AR Hisl F A 5w e @l § e gan? 4

Which reasons gave rise to struggle between Nawah Siraj-ud-daulah and the
English ?
e 3m Wi F foEl w1 oew quRy ¥ fau wm S wew T9m o 4

What legal steps were taken by the British to improve the condition of Indian

Women ?

K—1—T—=80388B1




24.

26.

(5)

ar B aTE-mTeTEE QAW S 5 g9E S ST R 4

Explain the effects of Religious-Social Reform Movements in India.

i S uRE Al siees =7 9 SR 390 B TR WER gEEE Fi

How did Gandhiji help in making the Freedom Movement of India a mass

movement ?
4T (Or)

ForTeT] W ST Eendl Tl 917 9% aEEa = TEl?
Why was Shimla summit called ? What was the reason of its failure 7

frael 100 |G § AAEE & fates A 4 gu i mm w0 e el 4

' Discuss the evolutign of different modes of Transportation over the last 100

years.
wqg4gr (Or)
faam =7 9T F fawE 9 Ara-EEE F1 T T4 AW FA91 5 € 7

What advantages and disadvantages have occurred to the Human society, due

to the development of Science and Technology ?

e

1857 FT HiTg ¥F U9 ¥ FH0 Fa5L = arrdE w7 9 oo & ST vH =@l
q 2 5

In the context of the Revolt of 1857 give reasons, why the Indians felt that their

Religion is in danger.

oot § wEEE 1 S5a A wE] gl g 2 S =0 i | 5

Which factors gave rise to Fascism in Italy ? Describe those factors.

K—1—T—8038B1 BT
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(6 )

HEFT (Or)

w0 § afds =gemi 3 =589 =17 1917 S Fia & 99 &H?
How did Economic suffering in Russia give rise to the Revolution of 1917 7

F] YRTEHI0 H W GER F (992 o ST O 9 9 § 2 J0 I qHET
i A% ST 5

Can Urbanisation be held responsible for the disintegration of Joint family ?

Give reasons to support your answer.

AETHEL 1 A8 H 7Y F TEEG € 2 AIE Aal 8 1% AW Ee s AN R T 5D
* Hfd =g v@ YA T, 7 g fSvags e W ¥l 917 395 I % guYH
q W ae 5
What do you understand by the Policy of Appeasement ? Do you feel that the
IInd World War could have been avoided, if England and France had faken a
firm stand towards Germany ? Give reasons to support vour answer.
244 (Or)
=l g = WA W 99 F e § o osE el o e 2

o]

What place can be assigned to Dr. Sun Yat Sen in the History of China *

. WTHH T H1 gEF TEvrman e | &

Write the main characteristics of Aneient period.

HYgar (Or)

.'.;|1[".|
L

RIS % YIEAHTE F UEAE HEEE w1 =0 g0 #@l wel =@l

Why is the rule of Shahjahan known as the Golden period of Indian medieval

period ?

E—1—T—80358B1
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30. T 99T sEHE @ % 4R §UR H@ieed 5 G0EE S A wiE | &

Evaluate the contribution of Sir Sayved Ahmad Khan in Muslim Reform

Movement.

HY=T (Or)

39 FAEE] =1 9vA wiiee, 5% 390 T T gYR Aeer WEY EE | 0 54l

a1 Ser B 9 F 7 Al T8, O 99 ¥ e 320 F1 AEYEHdl € 2

Describe those social evils to eradicate which social reform movements were
initiated ? Have all the social evils been eradicated ? If not, then what steps

should be taken now 7

K—1—T—8038B1 1
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Total No. of Questions—30|
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(1)
(2)
(3)
(4)
(5)
(6G)

T—8038C1

HISTORY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks : 100

w4 gy e # )

wmﬂﬁmﬁ%mwﬂmﬁmaumﬁﬁéﬁm
WY wHIE 11 H 18 9% & 99F ¥ F S9¢ o097 50 e § #ife
T FEE 19 @ 24 7% ¥ TS G F T €T 75 ey A

[Total No. of Printed Pages—7

TYT THIE 25 § 28 T & UdF UYA FH UL OUHT 120 el 9 Sifan |

T FHIF 29 TS 30 % T UVA §1 3¢ YT 130 $EE § g

Instructions :

(1)
(2)

(3)

{4)

(5)

(6)

All guestions are compulsory.

Write the answer of each Question from Question Nos. 1 to 10 in about

abt words.

Write the answer of each Question from Question Nos. 11 to 18 in about

50 words.

Write the answer of each Question from Question Nos. 19 to 24 in about

78 words.

Write the answer of each Question from Question Nos. 25 to 28 in about

120 words.

Write the answer of each Question from Question Nos. 29 and 30 in about

150 words.
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{2
1. 2% F 9y g w7 @ S =wsn) 2
Give two characteristics of Dupleix’s policy in India.
2. T9Y =1 Taeg A= 3 7 fe3? ’;
Why was Sindh annexed by the English ?
3. FeEENedl F] FEeEE grered 8§ F\ AvEE 917 2

What was the contribution of Moderates in Independence Movement ?

4. TEAT 7 e & A9 99 3 F4 999 favEgg 1 vsem

Fad

"k

How did the conflict between Germany and England start the 1st World War®

AT 7 AT F =TT ¥4 F] o ? )

92

Why did America establish NATQ ?

6. TEYNE & (9= & 9iaued %49 A1 e a7

P

When and by whom the theory of Panchsheel was formulated ?

7. 5ty favsys &9 9= 9 79m g7

[Ind World War ended due to which incident ?

e

8. oA 999 ¥ T O S9 %1 deg ¥ 98 7 2
Why has the importance of non-conventional sources of Energy increased in
present time 7

g, e Ifa a9l ¥ Tawm § =9 = wg 2 2
What do vou know about Raja Ravi Verma ?

K—1—T—8038C1
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11.

12,

[=E

14.

T

16,

T FHel = OE Y

b

What iz Pop art ?

9 = T67U F99 =i 501 F1 OGS § 99 wnd %2 3

What were the reasons for discovering new Trading routes to India ?

Fid

1907 § HUE ¥ 2 924 = IueE w69 = 97

What reasons were responsible for the split in Congress in 1907 ?

1929 % HIUT F TR AGSTH = F Te 87

il

What is the significance of the Lahore Session of Congress in 1929 7

fad

i

w3 T TR F FEEES F SEEg B 6 T wnT 4 7
What were the reasons for rejecting the recommendations of Cripps Mission hy
the Congress ?

AT T AEEdT TEHT I FEwed F TIE A0 910 P AN WY HEHd 7 4R
eI 3
America’s Non-cooperation was the main cause for the failure of League of
Nations. Do you agree with this and why ?

AW TwEHY T owiusw fwen, @9 3 @itEla®: I8 (UNESCO) + w943 i@
fertan | 3

Write the main functions of the ageney of United Nations Organisation,

UNESCO ?

K—1-T—8038C1 P. T. 0.



18.

. wHH I S F T e 90 3

What were the reasons of National awakening in Burma ?
ALIET (Or)

What was the main reason of establishing Baghdad Pact or CENTO ?

HHFEEE o § s a=en =1 5 e 20 3

What is the importance of Non-Aligned Movement in the contemporary world ?
94T (Or)

Tfie amﬁqﬁqmm'Wﬁnmﬁmiwﬁ—W?ﬂ?ﬁ?ﬁ%mmm?

How was Non‘aligned Movement appropriate for the newly independent countries

of Asia and Africa ?

i?.ﬁ'ﬁﬁﬁﬁiﬁ@%ﬁ@ﬁhﬁﬁ@ 4

20,

2.

Write about the origin and development of Urdu Language.

HUS-wTET I9¥ ¥ W& F1 WeE Fow s 947 4

What were the reasons of the failure of the Marathas in Anglo-Maratha

struggle ?

A § HE-AEIAE gAY dikeE & 9NET # s wien)

I

Explain the effects of Religious-Social Reform Movements in India.

K—1—T—8038C1



Pt
LE¥

24,

{2)
R H5iY TEg Te S 5 E W1 27 TUE 9na | sis gmey F fEww o
FA Hergar mEl? 4
Which Governor General started the Subsidiary Alliance system ? How did it

help in expanding British empire in India ?

. fred 100 TN § IEEE F fatus @Al § gu wiEs fEEm w1 fEes e 4

Discuss the evolution of different modes of Transportation over the last 100

VEears.
HrET (Or)
T ¥ ST ¥ faEm 4 weE-wEe F o @ S el g

What advantages and disadvantages have occurred to the Human society due

to the development of Science and Technology ?

FHEAT ATETER AT 59 ¥ 9% Fi09 § "avs 9@ 509 gU7 3 "avEl & EmE
AT T TEAE gE 2 4

What ideological differences occurred in the Congress after the calling off of

Non-Cooperation Movement ? What development occurred due to these differences?

3g=n (Or)

MisZered TreT F U feiE | FUE 3 g @ 359 $ §Ema gu?

Write the provisions of Mountbatten Plan. Why did Congress and Muslim League
agree with the Plan ?

o e eiferd | 5

Can Urbanisation be held responsible for the disintegration of Joint family ?

(Give reasons to support your answer.

K—1—T—38038C1 PO
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{ G0

5, F9 FAW H] TarEe fa==] S5 9 9Warg O 4 1857 9 wifg | 9 fear s

Write the reasons which prompted the Indian Sepoyvs to participate in the
Revolt of 1857.

=9 F Fig & Uasias 953 =1 500 20 7% =2 FHiran F T fave 97 = g
57| 5

Give historical importance of Russian Revolution and explain its effect on the
Warld.

=T (Or)

BT A9 JMEEE H1 G I
Compare Fascism and Nazism.

TS WEA G SEA Sl § UYH e ¥ AR SIS #99E F 9EE w1 O5E R
EriE i | =

How did the Nazi Government took benefit of the feeling of humiliation among

the German people atter the Ilnd World War ?
HGET (Or)
1904-05 * =H-9191 q¢ 5 =N [¢@EL| 30 g5 F OF g § 7
Write the reasons of the Russo-Japanese War of 1904-05. What is the importance

of this War ?

YT F1E |4 960G # =90 57 =90 F1 90 F a0

(m

Describe the position of Women in India in Ancient period.
HIaT (Or)

YIEHa] FEM I F S0 F e |

Describe the Architecture of Shahjahan’s period.

K—1—-T—8038C1
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Who are called the Theosophists ? What is their contribution in the huilding of

Modern India ?

it a3 e #i EEE gEaR F a9 § P e €7

What are the contributions of Arya Samaj in the field of Education and Social

Reforms 7

K—1—T—8038C1 15,535



